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Warm Up
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Limaits

What is meant by a limit in Mathematics?

Let's explore and find out! Archinedes
£ —=

Ibet he knows something about limits == s s == =

Have a look at these two scenarios:

Determining the area of a circle using polygons

@

Approximating the area of a unit circle with regular polygons

-Numberofswdest}mﬂﬂ): |: N ore || ne -

Area of polygon: 1.29003810497145545

What should the area actually equal?

Will it ever equal this value?

What is the limit of the area of the polygon?

Determining the slope of a tangent to a curve

&

Secant line approximations to the tangent line

40
Current slope = 2.88

How can we find the slope of a secant?
How close to the point = 1 should we choose?

Will the slope of the secant ever equal the exact slope
of the tangent?
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http://en.wikipedia.org/wiki/limit_(mathematics)
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